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Sl. No.1
QBID:1555021

Choose the correctly spelt word.
(1) Defalcation

(2) Difalcation

(3) Defalcasion

(4) Defalcatation
faffad d few s &
(1) &

(2) &

(3) ==

(4) 9

1[Option ID=19201]
2[Option ID=19202]

3[Option ID=19203]
4[Option ID=19204]

Sl. No.2
QBID:1555022

Given below are four sentences in jumbled order. Select the option that gives their correct order.
A, Once on their way, the stones did not stop until they reached the bottom of the hill.

B. You had to be very careful not to start a landslide.

C. Loose stones rattled down the cliff.

D. And they took other stones with them. so that there was soon a cascade of stones.

Choose the correct answer from the options given below :
(1) CCA.D.B
2) B.A.D.C
3) B.C.A.D
4) C.D.B.A

= &1 BY 4T TTE & TP SUHUT (Assertion A) P =0 H [ET © 1 GO0 3HP BRI (Reason R) & 37 H:
HHYT A SHRIT T FIATSAE |

PRUIR : TS T GetiTT 8 | $S Wea SUAIE Bld ©. SHINETY SPRIA Bl gU Hf Ol WfFT 61 8 |
SWRIGT PY & 3fTclie H, - AU MY [db el & I 9l Iugad IR &1 99 SIfoY |

(1) ASRRGH UEl g SIRR. A DI gl IRl §

(2) A SRR IH TEE AfPTR AT G careT e ©

(3) AGSI e AfGIR TG TRl &

4) ANEIAE e AT R TS ®

1[Option ID=19245]
2[Option ID=19246]
3[Option ID=19247]
4[Option ID=19248]

Sl. No.3
QBID:1555023

Choose the correct sentence.
(1) We went to the station to see them off.
(2) We went to the station to see them out.




(3) We went to the station to goodbye them.
(4) We went to the station to say them goodbye.

19 €1 wue faw o & us wfieua (Assertion A) % w0 # fuf@d # & g9 3% SRU (Reason R) F 79
ity A - o wsg Svafim 2 |
FRO R : a0 senig o § | e mit s wes IR R ek

TWRIEd $YA & TS 1, A9 f4U 7Y fgsedi & T T Sugsd IT) B T4 BioE:
(1) A IR R g w8 & 3R R, A & =t oorem @

(2) ANRRIFTHE AP R, A 71 9 sem TE 2

(3) ATSiEAfFAR G TR

(4) ANl g TR & &

1[Option ID=19273]
2[Option ID=19274]
3[Option ID=19275]
4[Option ID=19276]

Sl. No.4
QBID:1555024

Match List I with List IT

List I (Wood) List IT (Synonym}
A pervasive I |filter
B. [sieve II.  widespread
C. |potent III.  |netting
D. |mesh IV.  powerful

Choose the correct answer from the options given below :
(1) A-I B-I, C-IV, D-III
(2) A-IV, B-III, C-II. D-I
(3) A-IV, B-L, C-III, D-II
(4) A-IIL B-L, C-II, D-IV

Gl 19 91y G 11 1 e Sifey
Gel T
] 1 [=rifd T

A TR

B. [Foyddi gl 1. [YR1 3maf 3 S
C_[@as ga M. [fre & SRR OR AT
D. [cioll g8l gl [IV. [He el ol

< feu U fds el O ¥ 98l IR &1 994 Sif:
(1) A-II B-III, C-IV, D-I
(2) A-IIL B-IV, C-I, D-II
(3) A-IV, B-I, C-II, D-III
(4) A-L B-IL C-III, D-IV

1[Option ID=19277]
2[Option ID=19278]
3[Option ID=19279]
4[Option ID=19280]

Sl. No.5
QBID:1555025




Which two of the following are in correct form ?
A. Let's go to the cinema, shall we ?

B. Let's go to the cinema, do we ?

C. Let's not go to the cinema, shall we ?

D. Let's not go to the cinema, shan't we ?

Choose the correct answer from the options given below :
(1) A and D only

(2) A and C only

(3) B and D only

(4) B and C only

T e v g s s 2

(1) TRE Uy

(2) SROT® =1y

(3) M Hg

(4) ¥gH g

1[Option ID=19281]
2[Option ID=19282]
3[Option ID=19283]
4[Option ID=19284]

Sl. No.6
QBID:1555026

Choose the option which is opposite in meaning to the following word:

Castigate

(1) Commend

(2) Reprimand

(3) Flagellated

(4) Commotion

T @ gefhd sE-a am w9 2 2

(1) =<t o g S R E

(2) “epa # i oo S99 A R

(3) THEEES HHRIT IR F97¢ agae- § &5 ol o & |
(4) T veRia g Smeit %1 Sgaed 99 & [0 T % R W ST 9 6 |
1[Option ID=19285]

2[Option ID=19286]

3[Option ID=19287]
4[Option ID=19288]

Sl. No.7
QBID:1555027

Identify the correct indirect narration for the following sentence :

"Who now." they had asked, "Will listen to our troubles and protect us from the crocodiles" ?

(1) They had wanted to know who would listen to their troubles and protect them from the crocodiles.

(2) They had wanted to know who then would listen to their troubles and protect them from the crocodiles.
(3) They had wanted to know who will now listen to their troubles and protect them from the crocodiles.

(4) They wanted to know who will listen to their troubles and protect them from the erocodiles.




for AT &1 SR opfa ofm Tg wyT 21, 39 Gy S9N Fed § | S Ieree g |

A gfegamEa

B. &Mt

C. Tafes

D. S3mrEAT

E. o=
A fau 7y et § § 999 Iugad SR &1 957 S
(1) $aW A, B.D
(2) $3@ B, C.D
(3) #@@ C.A. B
(4) $aD,E. C
1[Option ID=19289]
2[Option ID=19290]

3[Option ID=19291]
4[Option ID=19292]

Sl. No.8
QBID:1555028

Which of the following is a one-word substitute for "safe to drink' ?
(1) Potable

(2) Suitable

(3) Edible

(4) Pliable

W 9 Weg &1 5 H ¥ SH-91 vafgard v § 7
(1) A&

(2) e

(3) =Y

(4) =weis

1[Option ID=19293]

2[Option ID=19294]

3[Option ID=19295]
4[Option ID=19296]

Sl. No.9
QBID:1555029

Identify suitable preposition from the options given below to compute the sentence.

Neha would think it her to do such a small work.

(1) under

(2) below

(3) above

(4) beneath

e & ge o § -
A, SHETYE
B. foum=
C. frEar

D. 3&a8
E. g=ia

i fau e [gwedl § § 999 Iuged S &1 999 S
(1) F@UA. B, C
(2) #@UB, C.D
(3) #F C.D.E
(4) FWTA. D.E

1[Option ID=19297]
2[Option ID=19298]
3[Option ID=19299]
4[Option ID=19300]




Sl. No.10
QBID:15550210

Identify the active voice for the following sentence :

These things have been left here by an unknown person.
(1) An unknown person leaves these things here

(2) An unknown person have left these things here

(3) An unknown person has left these things here

(4) An unknown person had left here these things

B[ 919 F 904 ST |

(1) &F ol & g E gl |

(2) 1 ¢ & 90S S & |

(3) WdiE & & Yol & &l |

(4) B & Ul gIA1 & o |

1[Option ID=19205]
2[Option ID=19206]
3[Option ID=19207]
4[Option ID=19208]

Sl. No.11
QBID:15550211

Amid economy crisis and political turmoil in Sri Lanka who has been appointed as the new PM of Sri Lanka.
(1) Maithripala Sirisena

(2) Ranil Wickremesinghe

(3) Mahinda Rajapaksa

(4) Gotabaya Rajapaksa

Jiciept & anfdfe dave Ud Ao i & o9 dide &1 Fa1 nemEE 8 Fged o e 2

(1) Frora R

@ I fdeafdd

(3) Hig=T IAoe

(4) TTeTarar ASTIE

1[Option ID=19209]
2[Option ID=19210]
3[Option ID=19211]
4[Option ID=19212]

Sl. No.12
QBID:15550212

Who has become the First female to took the office of President of Tanzania and the third woman head of the government of country in
East African Community ?

(1) Samia Suluhu Hassan

(2) Agathe Uwilingiyimana

(3) Sylvie Kinigi

(4) Sahle-work-Zewde

T & P F1 Ug YR TEW S35 ai wug Afge SR O npie! $He # TN # WeR WY 944 gl ol Jfeem 19 a1 ?

(1) wHan gag 56
(2) rma ShafifRmm
(3) Ryedt fafrht

(4) Tgd-ad vag
1[Option ID=19213]
2[Option ID=19214]

3[Option ID=19215]
4[Option ID=19216]

Sl. No.13
QBID:15550213

India held the first spot in the International Shooting Sport Federation World Cup 2022 which was being held in .
(1) India
(2) China




(3) UAE.

(4) Egypt

SRS ST WIE Ho<RH aes B 2022 F URT 2 WuT VI U fbar, a1 smie _ Hgsn
(1) HRd

(2) ==

3) UL

4) fay

1[Option ID=19217]
2[Option ID=19218]
3[Option ID=19219]
4[Option ID=19220]

Sl. No.14
QBID:15550214

Who has won the Men's Single Title at 79th Edition of the Italian Open being held in Rome ?
(1) Stefanos Tsitsipas

(2) Novak Djokovic

(3) Rafael Nadal

(4) Roger Federer

T & s et ige % 798 HeHe0 § 29 o & Uea f@are & e offar ?
(1) g R

(2) Ao T=EiEE

(3) wFw FEma

(4) IR e

1[Option ID=19221]

2[Option ID=19222]

3[Option ID=19223]
4[Option ID=19224]

Sl. No.15
QBID:15550215

What is the current year estimation of the GDP growth according to the Nirmala Sitharaman in the Union Budget 2022-23 ?
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

fofen HfiaReor a1 wRgd F09 e 2022-23 F FER 9y a9 @SS ofE @ ogee e g 2
(1) 9.5%

(2) 9.9%

(3) 9.2%

(4) 8.5%

1[Option ID=19225]

2[Option ID=19226]

3[Option ID=19227]
4[Option ID=19228]

Sl. No.16
QBID:15550216

All the mtellectuals are very emotional, because :
A. They are thinking beings

B. They are logical beings

C. They are mathematical beings

D. They are philosophers

E. They are layman

Choose the correct answer from the options given below :




(1) A.D Ounly
(2) B. C Ounly
3) C.E Ounly
(4) D. E Ounly

W giEudl Sgd WIgE B € i

A, @ 9= g i § 1
B. @ oifde wiii & |
C. & Tiitrg oo &
D.deEEE 7 |
E.dOWME T |

7 feu g faset! & § 99 UG TR BT 904 DT
(1) FaAA. D
(2) F@@B. C

(3) FWC.E
(4) FTOD. E

1[Option ID=19229]
2[Option ID=19230]
3[Option ID=19231]
4[Option ID=19232]

Sl. No.17
QBID:15550217

Choose the best options for football players :

A. Player 'XYZ' shows team spirit

B. Player 'XYZ' have sportsmanship

C. Player "XYZ' have hatred for other team-mates
D. Player 'XYZ' shows jealousy

E. Player "XYZ' shows patience

Choose the correct answer from the options given below :
(1) A B, C only

(2) A and C only

(3) B.C.D only

(4) A.B.E only

Fean & Eansdl & o gaiad faees gy |

A. S 'XYZ' €W via veRfa s g |

B. &gl 'XYZ' # S0-UaT # |

C. &l 'XYZ F e dn-veai s i gun 2 |
D. st 'XYZ' ven veitfd s g |

E. e 'XyZ W wekia s |

A fau o Aeedl 7 9 999 Iugad ST &1 999 Sl
(1) $aUA, B, C
(2) FaaA RC
(3) ¥ B, C. D
(4) FaU A, B.E

1[Option ID=19233]
2[Option ID=19234]
3[Option ID=19235]
4[Option ID=19236]

Sl. No.18
QBID:15550218




A person can learn Sanskrit without a teacher :

A. Tt is not possible learning Sanskrit without a teacher: as it is a technical subject.
B. It is possible to learn Sanskrit as it is non-technical subject.

C. Anyone can learn it; as it 1s just a language.

D. It can be learned by daily practice under a teacher.

E. It is easy for a person, who know Hindi language.

Choose the most appropriate answer from the options given below :
(1) A and E only

(2) B. C and D only

(3) A.B and E only

(4) A and D only

Fi5 oafad fa et sras & g dia 9 &

A. &1 erads & T die 9RiE T8 ¢, it 9% Uh ab-le! [a9d © |
B. HtFa g1 9ng § Hifs 05 UF TR-aeie! 9 g |

C. =8 =15 i Jiw g%l ¢ it U5 o0 0 HIT § |

D. T &3 srms &1 T § 2 e e & W O W el w
E. U8 f&=<1 e 9 ol el afsa S fimawa & 1

F19 fau 7y fawedt § @ 9o9 I9ed IR &1 909 S
(1) FTTA SRE

(2) @B, C3RD

(3) FTIA,. B IRE

(4) FTTA SR D

1[Option ID=19237]
2[Option ID=19238]
3[Option ID=19239]
4[Option ID=19240]

Sl. No.19
QBID:15550219

Give below are two statements :
Statement I : Pollution level in Delhi may be reduced by reducing the factories.
Statement IT : All factories are creating noise pollution and are dangerous to health.

In the light of the above statements, choose the correct answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

TR S R &
w1 ; Tl & ugnu &1 =R $EH 92 & Aemd ¥ 9o o 96dT § |
FYF 11 : 9N R @i-HgH 307 B & AR W F g ads & |

T FYA & A 1, 419 B 7Y fawel § 9 9 Iugs IO $1 909 B
(1) &y [ 4R 11 & wel &

(2) =1 3R 11 S 7o &

(3) T T & e sy 1] T &

(4) FUT ] A S AT A S




1[Option ID=19241]
2[Option ID=19242]
3[Option ID=19243]
4[Option ID=19244]

Sl. No.20
QBID:15550220

Give below are two statements :
Statement I : Education is important for both male and female.
Statement IT : Government must encourage co-education, as it is required for country's development.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

H < By g g &
FYA | : qoul SR afgarsd, S ¥ R ften geag 2 |
FUT 1 | : TRER 51 T5-281 F1 e 1 T1ien wife 78 2% % e & Ry oo §

S FUF & AT A, A9 30 T Eel 7 9 99 9uged o) &1 90 S
(1) & [ 3R 11 &1 w8 &

(2) =] R 11 34 T

(3) T T E Afpa T 1] T B

(4) Ty 7Ted &, Afea FA 11 981 2

1[Option ID=19249]
2[Option ID=19250]
3[Option ID=19251]
4[Option ID=19252]

Sl. No.21
QBID:15550221
T ., i then the valueof |, 1 is
Xt =2 —
x x
(1) =2
(2) =8
3) =1
(4) =4
afe 1 a 1 &1 HHE A -
x +—==2 X +—
b= X
1) =2
(2) =8
3) =1
4 =4

1[Option ID=19253]
2[Option ID=19254]
3[Option ID=19255]
4[Option ID=19256]

Sl. No.22
QBID:15550222

Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : If the volumes of two cubes are in the ratio of 3:27 then their surface areas are in the ratio of 4:9.

Reason R : If the surface areas of two cubes are in the ratio Sy : 55. then their volumes are in the ratio §2* : §27

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R 1s the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A




(3) Ais true but R is false
(4) Ais false but R is true

2 G By AU L §: TP HUDYT (Assertion A) F EU H f1fEd € o GO0 3D BRI (Reason R) P T T:

BT A : 1S 3 Gl & S BT ST 3:27 3 ol 3P Td6 445 PI SUTd 4:9 TH

BRUIR : A &1 941 & Fdg SABA DI UM S, : 5, 6l 3 AT PI UM 52 - 52° AT

SRITT FYF & AP |, Fd Gu 0 f[dFedl & I el ST &1 997 B |
(1) ASRREH TS SRR ADI T ARAT ©

(2) A SRR TG 8. Ufe R, A DI US| A Tol ©

(3) AT AR ST T

(4) ASIEAPIRTTT

1[Option ID=19257]

2[Option ID=19258]

3[Option ID=19259]
4[Option ID=19260]

Sl. No.23
QBID:15550223

If the high and base radius of a cone are increased by 50% and 25% respectively then the ratio between the volume of a given cone and
the new cone is

(1) §:27

(2) 75:32

(3) 32:75

(4) 27:8

gfe; fodl i B a8 SR YR B0l &I BH: 50% IR 25% 961 301 §IY dl Q14 ¥ig 3R 70 =P & S1gd= &1 Urd oh -
(1) &:27

(2) 75:
(3) 32:
(4) 27:

-1 W
[

[ea)

1[Option ID=19261]
2[Option ID=19262]
3[Option ID=19263]
4[Option ID=19264]

Sl. No.24
QBID:15550224

The probability of selecting a vowel from the word TRIANGLE is -

(1)

e TRIANGLE # ¥ & & g4 &1 Uridsal 31 gr1-

1)
(2)

(3)

Collh ol & G0l = |k ] 1L Gl G = ] ke

(4)

1[Option ID=19265]
2[Option ID=19266]
3[Option ID=19267]
4[Option ID=19268]




Sl. No.25
QBID:15550225

If one root of quadratic equation 3,2 3,4 (2k+1) = 0is five times the other then the value of k is :
3

1) —
16

(2) -

(3) -

(=N IS ;lw

3
4) -
8
feramelia TER0 9.2 30 4 (241 =0 &1 U& T go} &1 99 A1 & dl k &1 A4 71 51 2
3
1) —
16

(2) -

(3) -

(== V] ;lw

3
(4) -
8

1[Option ID=19269]
2[Option ID=19270]
3[Option ID=19271]
4[Option ID=19272]

Sl. No.26
QBID:97914241

Choose the correct option based upon the following statements
I. inverse of a matrix exists for all square matrices
II. inverse of a matrix exists only if it is non - singular square matrix

IIT. inverse of a matrix, when it exists is unique
(1) Only Lis true

(2) Only IT is true

(3) IandII are true

(4) II and IIT are true

A1 14U U Sy 9= YT Hel f[ddbed I-T.-
1. Wit seg T gwaTae |

L. 3og BT ogepH T §1T ¢, Tf a8 U ool arf Sofg & |
111 HTHE BT HehH Hfgdd g g |

(1) HITIFAT

(2) FEANID &

(@) 1HRITAT

(4) 11 3R 11 T &

1[Option ID=23801]
2[Option ID=23802]
3[Option ID=23803]
4[Option ID=23804]

Sl. No.27
QBID:97914242

Choose the correct option based upon the following statements

L. A matrix A is idempotent and only if all its eigenvalues are either 0 or 1
II. The idempotent matrix is a non-singular matrix

IIT. The trace of an idempotent is equal to the rank of a matrix

(1) Only Lis true

(2) Only II is true

(3) IandII are true




(4) I andIII are true
A1 fU ST ol 1R 3metid gl fdded &1 gH-
I U& g A ZSMIc (T7m) 31T afe 3R Had afe 9t 39 sfimefes amardiogiar 1 8 |

II. TSI (GFY) 3HTeg U b HUIg Mg ¢ |
111 U SSIc=< (TIH) STE 35T SHTedg B alid (3h) & aaR ol o |

(1) FIAITAT
(2 HAAUIT S
(3) 1IRITIE
(4) 1R AT E

1[Option ID=23845]
2[Option ID=23846]
3[Option ID=23847]
4[Option ID=23848]

Sl. No.28
QBID:97914243

Choose the correct option based upon the following statements

I. The eigenvalues of an upper or lower triangular matrix are the diagonal entries of the matrix

II. the determinant of a triangular matrix is equal the the product of all entries in the main diagonal
IIT. a square matrix is called lower triangular if all the entries below the main diagonal are zero

(1) Only Lis true
(2) Only II is true
(3) TandII are true
(4) TandII are true

fAfafafad oy=t or smumivd 91 famed & gl

1. U® 3= 41 9 Bioiy smag & &Wuﬂ&fﬁmmwﬁﬁﬁﬁwﬁ@m%
1. U@ Baivig segg &1 f$exit-= @Ruiie) gwd fasul (sreri=e) § 9t siogg / wiafdal & 1[uH & aRieR gidl o |
111 U 91 STegg &1 Fgad BTl e o1dl § oFR J& f[dau! (SrHea) & - 9 wow / ufafdai s gl

(1) FEAITAE
) FIAnIde
() [RITAE
(4) 13RI &

1[Option ID=23889]
2[Option ID=23890]
3[Option ID=23891]
4[Option ID=23892]

Sl. No.29
QBID:97914244

The eigen values the matrix E ;] are
(1) Sand2
(2) 4andl

(3) Sand1
(4) 2and3

a{mﬁg ;]%efrfﬂaaﬁwnﬁﬁﬁ-
(1) 53R2
(2) 431
(3) 631
(4) 23R 3

1[Option ID=23933]
2[Option ID=23934]
3[Option ID=23935]
4[Option ID=23936]

Sl. No.30
QBID:97914245




Which of the following statements is FALSE?

(1) The Numbers 3. 3. 3 have a standard deviation of 0.

(2) The Numbers 3. 4. 5 have the same standard deviation as 1003, 1004, 1005.
(3) The standard deviation is a measure of spread around the centre of the data

(4) The Numbers 1. 5. 9 have a smaller standard deviation than 101, 105, 109,
Frafafed d S @ wy 7Tad 8-

(1) T3 3, 3. 3 B OHS 9T YE BB

(2) TEATSA 3, 4, 5 BTG 39T 1003, 1004, 1005 F RIGR SIAT 8|

(3) TS g, S1el & 5 & IR X% & hard & A gidl 3 |

(4) TBAT3AT 1, 5,9 BT HFD G0 101. 105. 109 & BleTSId1 &1

1[Option ID=23977]
2[Option ID=23978]
3[Option ID=23979]
4[Option ID=23980]

Sl. No.31
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The total area under the standard normal distribution curve between - 1 and 1 is approximately
(1) 34%

(2) 64%

(3) 68%

(4) 94%

19 1 & o9 AFS T g9 9 (o AN (9% I $d) BT Pd SAHd HTHT 6-
(1) 34%

(2) 64%

(3) 68%

(4) 94%

1[Option ID=24021]
2[Option ID=24022]
3[Option ID=24023]
4[Option ID=24024]

Sl. No.32
QBID:97914247

The coefficient of variation is defined as

(1)

(2)

ta

(3)

=|9, 9l= =19

(4) None of the above

faeRUT 0TS 59 HehR U1 3-

o x
(1) i
m
(2) e
a2
(3)

B
(4) IWRIGd 5 Y IS e

1[Option ID=24065]
2[Option ID=24066]
3[Option ID=24067]
4[Option ID=24068]

Sl. No.33
QBID:97914248

The marks on a statistics test are normally distributed with a mean of 60 and variance of 256. If the marks obtained by a student are 84,
then the standard normal variate z is
1) 1




(2) -1

(3) 1.5

(4) —-15

ot Wi ! Ul 3ol & THRT de T (el [SREe1Ee) A 60 § R feraor 256 81 SRR ST GRT 84 3ich W1 fh 7Y & <l #ifh T
(I3 (A 85 AH dIUd) z &l HIH T 511

1) 1

(2) -1

@3) 15

(4) —-15

1[Option ID=24093]
2[Option ID=24094]
3[Option ID=24095]
4[Option ID=24096]

Sl. No.34
QBID:97914249

Which of the following 1s NOT a measure of variability of data?

(1) Median

(2) Variance

(3) Standard deviation
(4) Range

STeT &1 uRafdar (dRafagdiie) o1 A Hafafad 8 3 o3 I =gl 82
(1) HfeheT

(2) fa=rur

(3) AHS fagad

(4) TR/ g

1[Option ID=24097]
2[Option ID=24098]
3[Option ID=24099]
4[Option ID=24100]

Sl. No.35
QBID:979142410

Which of the following statements is correct:

(1) Normal distribution is a discrete distribution

(2) Poisson distribution is a continuous distribution
(3) Poisson distribution is a discrete distribution

(4) Binominal distribution is a continuous distribution

afciad & 9 $H 91 $YF el 9ol 82

(1) A SeRH (W §e) U9 f$wie (ofda) ded &
(2) G §cq U@ gad e ol

(3) G §cA 3Rdd s o

(4) FIEAIATA (f§Ue) ¢4 TP Jad ge g

1[Option ID=23805]
2[Option ID=23806]
3[Option ID=23807]
4[Option ID=23808]

Sl. No.36
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Which of the following statements is correct:
(1) Exponential distribution is a discrete distribution
(2) Exponential distribution is a continuous distribution

(3) Normal distribution is a discrete distribution
(4) Binominal distribution is a continuous distribution

fraftifed s ey el Te &2
(1) TRYIGIP] §e TP 3-Gdd g 8|
() TRUMS! §e7 0P ad dc ol




) g ¥ U HHdd 9e- o
(4) f5Ug 93 UF sRiad s o

1[Option ID=23809]
2[Option ID=23810]
3[Option ID=23811]
4[Option ID=23812]

Sl. No.37
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There is an 80% chance that Ram will solve a difficult question. and 70% chance that Raheem will solve a difficult question. Find the
probability that at least one of them solve the question.
(1) 0.56
(2) 0.65
(3) 0.06
(4) 0.90
80% HIHT & (& IH Uh B UY 8 B 31X 70% HIH1 & D1 I61H UH Hio- UY 50 S TRUMID! ge- UH Idd se ol
Ui (Wadlferc) J1d Hifeld Bl HH J HH I ° Uh UY DI g De-
(1) 0.56
(2) 0.65
(3) 0.06
(4) 0.96

1[Option ID=23813]
2[Option ID=23814]
3[Option ID=23815]
4[Option ID=23816]

Sl. No.38
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If the equation of an ellipse is *~ L Y2 _
49 25

| - then area of the ellipse is
(1) 220
(2) 169
(3) 144
(4) 110
2 o -
TS Sdqd (gferm) ﬁaﬁmz_ng%: | &. 1 diviqa @1 g &-
(1) 220
(2) 169
(3) 144
(4) 110
1[Option ID=23817]
2[Option ID=23818]

3[Option ID=23819]
4[Option ID=23820]

Sl. No.39
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For a normally distributed data. the value 24.2 is 1.5 standard deviations below the mean. The value 35 1s 3.0 standard deviations above
the mean. Find twice the mean of the distribution.

(1) 258

(2) 51.6

(3) 27.8

(4) 55.6

Ue 9 [Gdid S1el & fi 24.2 9F &1 1.5 A [ddad, 719 9 Aiid (@H) g1 35 311 31 3.0 I fada-. 1018 ¥ $0R (S91e0)
g1 §c & H1e &1 g1 J1d PifoT-

(1) 25.8

(2) 51.6

(3) 278

(4) 55.6

1[Option ID=23821]
2[Option ID=23822]
3[Option ID=23823]
4[Option ID=23824]




Sl. No.40
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An aluminum and a steel bar have same dimension both are subjected to same tensile force. If the bars have unit elongations in the ratio
4:5. then the ratio of modulus of elasticity of aluminum and steel 1s

(1) 4:5

(2) 54

(3) 16:25

(4) 25:16

U TE]aH 3R 0% €I §5 31 9917 ATl § SR SH1 S9! &I 90 a7 9d oIl 9Idl § | 3R To1 &1 5Ts a91a (g-e
SA ) BT UG 4:5 § A1 Ueg[AaT SR TId & YRl H197d &1 S4Td &1 HTl-

1) 4.5

(2) 54

(3) 16:25

(4) 25:16

1[Option ID=23825]
2[Option ID=23826]
3[Option ID=23827]
4[Option ID=23828]

Sl. No.41
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Assuming all joints to be rigid, the degree of static indeterminacy of the girder shown in the figure below 1s

1)
(2)
(3)
(4)

g ot SerEe (oirs) T3 81 e 28 U firer & fua @fde afuidar 1 o e-

| S RLFN]

o

(1)
(2)
(3)
(4)

=T B S ¥ A ]

1[Option ID=23829]
2[Option ID=23830]
3[Option ID=23831]
4[Option ID=23832]

Sl. No.42
QBID:979142417

Which of the following pin jointed frames are statically determinate

VANWAANY LN

(11 (1
(1) Onlyl
(2) TandIT
(3) TandIII
(4) I and III




Frafafed iU sarge (sits) e 3 A o o Wfes Fuld

VONWATANPEN

(h 1] (1
(1) &Had I
(2 13RI
@) 13RI
() 11 3R 111

1[Option ID=23833]
2[Option ID=23834]
3[Option ID=23835]
4[Option ID=23836]

Sl. No.43
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In the force method of structural analysis. the unknown quantities are
(1) Forces

(2) Displacements

(3) Both forces and Displacements

(4) Neither forces nor displacements

IR oz & &t / fafe & - srd wmand et e -
(1) dq

@ fawm=

(3) g9 3R fawye A

@) AT g9 HR A8 G

1[Option ID=23837]
2[Option ID=23838]
3[Option ID=23839]
4[Option ID=23840]

Sl. No.44
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The fundamental assumption in the analysis of structures is the linearity of the structural response. This assumption implies that the
(1) Internal stresses increase in proportion to the external forces

(2) Displacements increase in proportion to the external forces

(3) both internal stresses and resulting displacements increase in proportion to the external forces

(4) Neither of the above

T @ fa=eryur H gayd 99, IRaide® (REui) Uldlhar & ueerddl o | 9 4id galdl o [o-
(1) 3=IRe Ufiad aTel g6l & HEFEU 98l o

(2) faRITH, STRT 9 & HHMFU 98dl &

(3) 3M=IRe Uldad 3R gRomH =19 i1 918l aeii & SHHURT 9641 o

(4) SWRIFd I $ig gl

1[Option ID=23841]
2[Option ID=23842]
3[Option ID=23843]
4[Option ID=23844]

Sl. No.45
QBID:979142420




The portal frame in figure below is supported by pin supports at A and D. and an internal hinge has been introduced at B. Find the vertical
reaction at D

e AT 2 e
4m oM
60 kN r_)A_
A
(1) 20kN
(2) 38kN
(3) 2kN

(4) None of these

feu e f & Oida e U9 98U® (J419) A 3R D | el & 3R UF dRe fel (@eof) B TR @91 1T 8 | D TR SEieR
PIREREIRIE R IR S

soee AT o
4m oM
60 kN r_)A_
A
(1) 20KN
(2) 38 KN
3) 2KN

4) SAH I P T8l
1[Option ID=23849]
2[Option ID=23850]

3[Option ID=23851]
4[Option ID=23852]

Sl. No.46
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If N is the number of possible hinge positions and X is the degree of static indeterminacy of a portal frame. then the number of total
(independent and combined) collapse mechanism are

(1) 2N

2) 2}’\'—1

3) N-X

4) N+X
qﬁx@mﬁaﬁﬁﬁ@rﬁﬁm%aﬁ?xwtﬁéﬁmﬁ%&rﬁaﬁmﬁw%ﬁw(ﬁﬁaaﬁ?@mﬁuﬁaﬁﬁaﬁ
i a1 gl

1) 2N
(2) 2N-1
3) N-X

(49) N+X




1[Option ID=23853]
2[Option ID=23854]
3[Option ID=23855]
4[Option ID=23856]

Sl. No.47
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For a cantilever fixed at A and subjected to moment M at the free end B. the slope and displacement at B respectively are

1) —and——

(2) —and —

@ ML ML
21 "' 2ET

0% U (SelferaR) & fou ot A R AR (Pas) B 3R 5 1R M 3110l fod SR B @1 @18 dl FP1d (K1) 3R few fig 3 ™
PO I BII-

1) —and ——

(2) —and —

@ ML ML
2E1 "' 2ET

@ ME ML
EI Y 2E]

1[Option ID=23857]
2[Option ID=23858]
3[Option ID=23859]
4[Option ID=23860]

Sl. No.48
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Doubling the depth of a rectangular beam subjected to a connected load at the midspan while keeping all other parameters unchanged
would result in

(1) An increase in deflection at mid span by 4 times
(2) A decrease in deflection at mid span by 4 times
(3) An increase in deflection at mid span by 8 times

(4) A decrease in deflection at mid span by 8 times

TSR S (XKH) B TERTs aRHT $34 TR fories 7180 Ule R U6 Y fad YR -1 91d1 § oaie o= gl Reflex @m9gs) &t
o1 Seal oTdl § df GRuITe a1 BT

() Fe e (s @) R fady / faeaur 4 T agar s
2 A e (s TF) R fagy / faagu 4 T gear g
3) T e (s W) R a8/ faamur s T aear gl
4) T UIe (s ¥ W faga/ fagmur s T aear g

1[Option ID=23861]
2[Option ID=23862]
3[Option ID=23863]
4[Option ID=23864]

Sl. No.49
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If both the length and the width of a bar of rectangular section are doubled then the total extension of the bar under its own weight
(1) Will remain unchanged

(2) Will inerease by two times

(3) Will increase by four times

(4) Will increase by eight times




3R TP AR Y B TS B Tals 3R AISTs a1 B G B (G010 4l 8§ P 30+ YR & 3Fd: Pl [aR a1 G-
) 2mfygfda wem

(2) SN EG

3) IR ES

(4) SIS

1[Option ID=23865]

2[Option ID=23866]

3[Option ID=23867]
4[Option ID=23868]

Sl. No.50
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For a poisson's ratio of 0.25. the ratio between E and G 1s
(1) 25

(2) 2.0

(3) 1.5

(4) 0.5

0.25 & U W UId & [T, E 3R G & &9 $I 30N o-
(1) 25

(2) 2.0

(4) 05

1[Option ID=23869]

2[Option ID=23870]

3[Option ID=23871]
4[Option ID=23872]

Sl. No.51
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If t is change in temperature, o is coefficient of linear expansion, and E is the modulus of elasticity of a material then temperature stress 1s
given by

(1) Eot

(2) Efat

(3) @t

(4) None of these

U@ U1 &1 3R A9 & 95014 ¢ ©. o 09 YR 0N § 3R £ Iydl B9 ¢ af ard wiaed &-

1) Eat

(2) Elat
3) ot

4) SAH I DS T8l

1[Option ID=23873]
2[Option ID=23874]
3[Option ID=23875]
4[Option ID=23876]

Sl. No.52
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As per IS 456:2000, the deflection including the effects of temperature, creep and shrinkage occurring after erection of partition and the
application of finishes sholud not normally exceed

(1) span/250 or 20mm whichever is less

(2) span/300 or 20mm whichever is less

(3) span/325 or 20mm whichever is less
L

(4) span/350 or 20mm whichever is less

IS 456:2000 & TR, fGUSH R THORi & 18 3 g ardl, a1 [agdur 3R HgeH & wuy1a Iied [9ehd Immia: 98 g
afgu:

(1) Tre &)/ 250 a1 20 foeft, S s ww @
(2) 972/ 300 1 20 et ot i wu @
() ey 325 120 firft S e




(@) T /350 ar 20 et S so g

1[Option ID=23877]
2[Option ID=23878]
3[Option ID=23879]
4[Option ID=23880]

Sl. No.53
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Lap splices shall not be used for bars larger than
(1) 20mm
(2) 25 mm
(3) 28 mm
(4) 32mm

A JERA (@Y Tersa) o v, FafifET @ 5 vei & fou g g
(1) 20 fodt
(2) 25 fedt
(3) 2g ot
(4) 327t

1[Option ID=23881]
2[Option ID=23882]
3[Option ID=23883]
4[Option ID=23884]

Sl. No.54
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In the limit state method. the balanced percentage of steel in a singly reinforced section having M20 grade of concreate and Fe415 grade
of steel is given by

W 042xu3§§ggx100
0.87x415
(2) EE¥%§E§x1m
0.36x0.48x20
(3) _ngiﬁﬁéf"“lau
@ “Gerears x100

ferfie e feug faft 5, v vavet waferd i St M20 IS &1 dbic SiR Fed15 IS &1 10 3@l 81 I Sqa HIagid (@i

0.42x0.36x20
0.87x415

2y 0-36%0.48x20

415

0.36x0.48x20
0.87x415

0.42x0.48x20
0.87x415

x100

100

x 100

x100

1[Option ID=23885]
2[Option ID=23886]
3[Option ID=23887]
4[Option ID=23888]

Sl. No.55
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Calcium Chloride is an example of
(1) air - entraining admixture

(2) water reducing admixture

(3) accelerating admixture

(4) retarding admixture
PARTH FRES TH 3360 & -

(1) U3R USHT UsiiyaRR (arg Tel ifafiyu)

(2) drex RagfoiT usfieeR (oid so=mgs sifufiym)




() TEIfeRET UsiHa=R (@i Sifafig)

4 Rerfén usfiemR des iy

1[Option ID=23893]
2[Option ID=23894]
3[Option ID=23895]
4[Option ID=23896]

Sl. No.56
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Which of the following statement is correct

(1) Workability and strength are important properties of hardened concrete

(2) Segregation and durability are important properties of hardened concrete
(3) Strength and impermeability are important properties of hardened conerete

(4) Strength and durability are important properties of hardened concrete

fFafafad d 3 o 91 9ol &-

(1) HUG 3R I HAIRA Wshic BT He@qul T 5

(2) JUaPd R MG HoIRd Hbic B Heayu 07 gl

(3) A 3R VAl / HIRITRIA] $3IRd Bebie Pl Hg@yul 0§ |
@) T SR It @ife® BaIkd Hwic BT Hgagul g |

1[Option ID=23897]
2[Option ID=23898]
3[Option ID=23899]
4[Option ID=23900]

Sl. No.57
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Air entrapment in concrete increases
(1) workability

(2) strength

(3) both strength and workability

(4) neither strength nor workability

dpic T YUIRIdd §gal 6 -

(1) HHffge

(2) grgy

(3) I HHUTT R e

(49) a1 qE R 18 HHU

1[Option ID=23901]
2[Option ID=23902]
3[Option ID=23903]
4[Option ID=23904]
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For a constant water - cement ratio. the compressive strength of concrete
(1) is not affected by the aggregate - cement ratio

(2) increase with the inerease in the aggregate - cement ratio

(3) decrease with the increase in the aggregate - cement ratio

(4) decreases with the age of concrete

U Fad o e 3 & g, Hwie o1 gite amaf 3-
(1) TH==- e STd ¥ 75 yHifdd el g |

(2) TH=- e 30 & d¢1 J gedi gl

(3) Y=I4- HIHe 3-Ud & 9¢- Y geal g |

(4) TPIC DI 3 F Y TeAT g |

1[Option ID=23905]




2[Option ID=23906]
3[Option ID=23907]
4[Option ID=23908]

Sl. No.59
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For a Poission's ratio of (.25, the ratio between E and G is
(1) 2.5

(2) 2.0

3) 1.5

(4) 0.5

0.25 W U & [T, E SR G & &9 31 3914 8-
(1) 2.5

(2) 2.0

3) 15

(4) 0.5

1[Option ID=23909]

2[Option ID=23910]

3[Option ID=23911]
4[Option ID=23912]

Sl. No.60
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As per IS 800 : 2007, rigid moment connections should be designed to withstand a moment of at least k times of either the full plastic
moment of the connected beam or the maximum moment that can be delivered by the beam to the joint due to the induced weakness at the
ends of the beam, whichever is less. The value of k18

(1) 1.0

(2) 1.2

(3) 1.5

(4) 2.0

TS UH (IS) 800 : 2007 & HUR, €¢ ATU! SIS &1 S8 UH1 §1H1 916U & 98 Us difeid diF (¥Y) & gl Wiied S0 &1 $H
A T k707 ol a1 I=aay el off Y gRT SeH & 18 UeTH & 5 &l 3. (@9 & 3id R URS $HeR] & SRon o of

B Bl k&1 9 01 G-

(1) 1.0

(2) 1.2

(3) 1.5

4) 2.0

1[Option ID=23913]
2[Option ID=23914]
3[Option ID=23915]
4[Option ID=23916]

Sl. No.61
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As per IS 800 : 2007, the maximum value of effective slenderness ratio in a tension member in which a reversal of direct stress oceurs due
to loads other than wind or seismic forces is
(1) 180
(2) 200
(3) 250
(4) 300
IS (3175 TH) 800 : 2007 & TR, FHTA! PRI 91 ST Seadd O TR P d-la 9ad T 71 5l 5w ga1 a1 Y&y aal & 3fardl
YRI & SR YG& e BT ScpHU I BId] &-
(1) 180
(2) 200
(3) 250
(4) 300

1[Option ID=23917]
2[Option ID=23918]
3[Option ID=23919]
4[Option ID=23920]

Sl. No.62
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The target mean strength for which the concrete mix is designed exceeds the characteristic strength by a factor &S, where S is the standard
deviation of normal distribution curve of strength of conerete. As per IS 456 : 2000, the value of the constant k is




(1) 1.28
(2) 1.65
(3) 1.96
(4) 233

U &0 H1ed T & (o s U dvepie s &1 [0 ks & WrHias ama 9 ifte @ 91d1 6. 56l s $oie $ a9 &
TR §eH G &I HH® [adad 81 38 T (1S)456 : 2000 P TR i 7R $THH o-

(1) 1.28

(2) 1.65

(3) 1.96

(4) 2.33

1[Option ID=23921]

2[Option ID=23922]

3[Option ID=23923]
4[Option ID=23924]

Sl. No.63
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To satisfy the serviceability limit state for lateral stability in simply supported beams, the clear distance between the lateral restraints shall
not exceed

b= width of the beam and d= depth of the beam
(1) 25b or 100b? /d whichever is less

(2) 30b or 150b% /d whichever is less

(3) 0b or 200b? /d whichever is less

(4) 60b or 250b% /d whichever is less

w_m%n‘mWﬁﬂ@ﬂﬁﬁmﬁwﬁaémm@m@m@ﬁﬁm%mmﬁaaaﬁaaiﬁﬂwagﬁm@m%

el gIl-

SIel b =d1H B1 T1STS © 3R d = S99 BT AHE! 6 8
(1) 25 or 1006 /d il i T B

(2) 30 or 15062 /d 1 1 ST &I

(3) 0b or 20062 /d Gl Yl HH B

(4) 60b or 250b% /d Sl i ST Bl

1[Option ID=23925]
2[Option ID=23926]
3[Option ID=23927]
4[Option ID=23928]

Sl. No.64
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If 0,3, is permissible stress in concrete in bending o, is permissible stress in steel in tension, m is modular ratio and d is effective

depth of rectangular beam section, then the depth of neutral axis in the working stress design method method for a balanced section is
given by
Gcbfd

ay —
MmO pe+0gt

Oche d
(2)
Oche + Osr

Oche d

() R —
Oche MO

MOche d

4) —
MO e t0st

IR SepIe H PP I, o, T UGG 8, o, AT F Eiel H FHT U €, m HIUE U 3R d TSR 1 HR BT JHIE! 1635 &, df
U 3o Ui & ot s eR! faad sy (Serg) § Widhidd 3e & T -

Ocsed

a ——
MmO e+ 0gt

(2)




Ococd

Ocpe+ Ost
Cfcbcd
ae
OchcHMOg
mUcbcd
44) —
MO+ 0g

1[Option ID=23929]
2[Option ID=23930]
3[Option ID=23931]
4[Option ID=23932]

Sl. No.65
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For a suberitical flow, the depth of flow 13
(1) equal to critical depth

(2) greater then the critical depth

(3) less than the critical depth

(4) none of these

I WHTd & 7T, yare &1 TeeE §-
(1) wifde TeE & WE

(2) Hifd® TeS U SIE]

(3) whifdd TS A &HH

(4) IR T T TS el

1[Option ID=23937]
2[Option ID=23938]
3[Option ID=23939]
4[Option ID=23940]

Sl. No.66
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the monthly rainfall at a place A during september 2020 was recorded as 65 mm above normal. Here the term normal means
(1) the rainfall in the same month in the previous year

(2) the average rainfall computed from past 12 months's record

(3) the average monthly rainfall for september computed from 30 years of past record

(4) the average monthly rainfall for september computed from 50 years of past record

U& SI7TE TR IR 2020 % SRA AR gy (@) @ @ SR 65 Bt Rars fovar man ot o ug s 9qes ¢ -
) s e 3 99 / 39 meiH § g @)

2 fiod 1298 & Rers 4 siwd aff @) 3 o 31 7% B

) fied 30 91l & Rers 9 Rader & o sied @rfas af® @l oM &1 7 &)

@ s so Il & Reers 1 fdar & fo sivgd miae af¥ (@uh) 7o &1 75 8

1[Option ID=23941]
2[Option ID=23942]
3[Option ID=23943]
4[Option ID=23944]
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Given a D-hour unit hydrograph of a catchment. the method of superposition cannot be used to obtain a mD hour unit hydrograph of the
catchment if

(1) m is greater than 5

(2) mis less than 3
(3) m is an integer

(4) m is a fraction




feT 70 76 U8V 61 TP D- Hel 513 SR, SRV &1 fafe &1 Wt St 5 U801 & U mD el P18 O HaTa & g
(1) 3{-"[?111.5@@@%|
() R m, 3 BRI
(3) \3{"'[?111@@@%’[

(4) IR m TH B

1[Option ID=23945]
2[Option ID=23946]
3[Option ID=23947]
4[Option ID=23948]

Sl. No.68
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The density of a body that floats at the interface of mercury of specific gravity 13.6 and water such that 30% of its volume is submerged in
mercury and 70% in water is

(1) 4780 kg/m?

(2) 4870 kg'm’

(3) 6230 kg/m’

(4) 6320 kg/m’

TS a3 &1 U-icd FT G ol 13. 6 P fafRIy U & UR SR Ui & SicRIg8 TR 39 UER oRdl € [ 391 30% IR § 3 € 3R 70%
ERE

(1) 4780 fHarH?

(2) 4870 fpar P

(3) 6230 fHarP

(4) 6320 fHarP

1[Option ID=23949]
2[Option ID=23950]
3[Option ID=23951]
4[Option ID=23952]
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The height of centre of buoyancy measured from the bottom of a wooden block (specific gravity = 0.70) of length Sm. width 3 m and
depth 1.8 m when it floats horizontally in water is

(1) 1.26m

(2) 0.63m

(3) 0.90m

(4) 1.05m

UG ST said (F3f¥1Y 99 = 0.70) 5 1. 1 arErs. 3 01 B IS5 3R 1.8 T B 1605 & ad 9 Sadddhdl $g &l HdTg adl gl
o4 I8 U 1 g IR Afas oRaT € -

(1) 1.26 9l

(2) 0.63 .

(3) 0.90 7.

(4) 1,05 9.

1[Option ID=23953]
2[Option ID=23954]
3[Option ID=23955]
4[Option ID=23956]
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In hydrological applications. a current meter is used to measure
(1) infiltration

(2) discharge

(3) velocity

(4) evaporation rate

T fagr Saielt sr{ornT o, YR 1 9T b d I o foTg foa ST &-




(1) 3{d @Wad

(2 FgeH/ e
(3) g

(4) TR

1[Option ID=23957]
2[Option ID=23958]
3[Option ID=23959]
4[Option ID=23960]
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Garret's diagram are used for the
(1) design of falls

(2) design of spillways

(3) design of weirs

(4) design of non - silting channels

TRew ST (o) &1 Wi {3 ST &-
(1) YT o TR

() 3ffererd Al B W=l

(3) YT Bl TR

() TMeA Xed @ RKied ) 1 G

1[Option ID=23961]
2[Option ID=23962]
3[Option ID=23963]
4[Option ID=23964]
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Trap efficiency of storage reservoirs is a function of
(1) capacity / inflow

(2) capacity / outflow

(3) inflow / capacity

(4) outflow / capacity

Fufea Sy @1 o @) dadr fEae vad e
(1) &Hdl/ ATdRD agld

(2) HHdT/dlgl dgld

(3) 3Tde g / &Hdl

(4) diel dgld/ &Hdl

1[Option ID=23965]
2[Option ID=23966]
3[Option ID=23967]
4[Option ID=23968]
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Dead storage in a reservoir is provided to

(1) meet the emergency needs

(2) mitigate floods

(3) accommodate the silt trapped in the reservoir

(4) increase its useful life

e Sy # oad gufed (FRfse =) a1 e Fdr 8-
(1) SERGI! (STAAHTe) SRed] & [HeH

(2) dI¢g DI HH HAT

(3) A H e (¥ee) [qumer &1 @1

(4) FHb JUNI Sita DI agHT




1[Option ID=23969]
2[Option ID=23970]
3[Option ID=23971]
4[Option ID=23972]
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The critical state of flow in a non - rectangular channel i1s expressed by

2% /3
(1) y, = ("‘f_)
g

QE_AS
(Z)E_F
QE_AZ
(3)?—?

(4) none of these

U TR-JIAIHR I7d H UaT8 @1 hifde Jawl $ yeRid sd § -

1/

2y 13
1) Y= (q_)
g

QZ B AS
(2) g - T
QE B Az
(3) P

4 SIS

1[Option ID=23973]
2[Option ID=23974]
3[Option ID=23975]
4[Option ID=23976]
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in a reciprocating pump. the value of slip
(1) 1s always zero

(2) is always positive

(3) can be negative

(4) non of these

Ue YANTH! 99 H, 9901 ((&19) &1 7 -
(1) BHIIY

(2) THIM YATHS

(3) HUTEHS &l I&dl &

@) FTH AP TRl

1[Option ID=23981]
2[Option ID=23982]
3[Option ID=23983]
4[Option ID=23984]
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Consider the beam show in the figure below. To produce 8, =0.5 radians. the value of M would be

\1/, OA “m__“\
/
A

} S p— o
A

T L

(where E is the modulus of elasticity of the beam, I is the moment of inertia of the section and L is the length of the beam.)
(1) 4EIL

(2) 2ELI

(3) 1.5ETL

(4) 0.5EIL
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el L= &8 & @i, E = UATRdl 4191, 1 = S8 1Yol
(1) 4EIL

(2) 2ELT

(3) 1.5EIL

(4) 0.5EIL

1[Option ID=23985]
2[Option ID=23986]

3[Option ID=23987]
4[Option ID=23988]
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consider the fixed ended beam shown in the figure below. The ratio of fixed end moments at A and B is
l P

: a !
e ——
| b |
i - g

(1) a/(L-a)
(2) (L-a)a
(3) 2a/(L-a)
(4) 2(L—-a)/a

2 U g9 2Us fawms 1% § A 3R B F F5Uid gyl ST SU 1 BT

= ' bl

(1) a/(L-a)
(2) (L-a)a
(3) 2a/(L-a)
(4) 2(L-a)/a
1[Option ID=23989]
2[Option ID=23990]

3[Option ID=23991]
4[Option ID=23992]
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Consider the fixed ended beam show in the figure below. For P=25. L =5 m and a = 2 m. the fixed end moment at A is
l P

a
i—
<

(1) 18kN-m
(2) 12kKN-m
3) 9kN-m
(4) 6kN-m

TR fEn A s aquidds iR e P=25.L =511 3siRa=2 ™. & U A IR 9guia Mol &1 7  31a Sifert-

(1) 18kN-m

(2) 12kN-m

(3) 9kN-m

4) kN -m
1[Option ID=23993]
2[Option ID=23994]

3[Option ID=23995]
4[Option ID=23996]

Sl. No.79
QBID:979142454

The portal frame in figure below is supported by pin supports at A and D. and an internal hinge has been introduced at B. The ratio of
horizontal reactions at A and B 1s

H'msewfﬂllllllHllllllllllll:*z_
60 kN DA
A
(1) 0.5
(2) 1.0
(3) 1.5

(4) 2.0




= fau v Farfee (dide) a3 51 fU 3MUR A 3IR D ¥ 3(adfad a1 9T 6. 3R U 3HRe 6 ©f B R @ odl 8. al A
3R B R & wiiiear &1 SFdd &1 52

i AT 2
60 kN T_)A_
A
(1) 0.5
(2) 1.0
3) 1.5
(4) 2.0

1[Option ID=23997]
2[Option ID=23998]
3[Option ID=23999]
4[Option ID=24000]
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if S is the axial force acting on an element ds of a structural member. then the total strain energy of the member on account of axial force S

18
5tds
(1) j

AE

2 5ds
(2) AE

5ds

(3) 3AF

@ j S%ds
2AE

ufe s Sfefi oo . U WD H& & ds ded TR 61 8 41 3M4fid 901 S $ GRI 9ad |R P [agpfd el a1 gl

W jSZdS
AE
5ds

(2) aF
5ds

(3) 3AF

@) jSst
2AE

1[Option ID=24001]
2[Option ID=24002]
3[Option ID=24003]
4[Option ID=24004]
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The relative error of an approximate solution defined as

total error

(1) z
truncation error

truncation error

total error
total error
exact value
(4)




exact value
total error
U Ao a3 MUfed I8! B bd RIS far o g2
IR
e
TR
7md T
TuTd O
TR

1)

(2)

(3)

(4)

1[Option ID=24005]
2[Option ID=24006]
3[Option ID=24007]
4[Option ID=24008]
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Ed

R s = W
The differential equation y=x_+ ay/ax

(1) 1s of first order and second degree
(2) 1s of second order and first degree
(3) is of first order and first degree

(4) is of second order and second degree
HAHTH THDR y=2 L+ = T
(1) T A IR Tty u1d o1 iR §
(2 fgda o9 3R uyE urd &1 gHieu &
(3) TUH HH AR TUH G BT THG §
@) Tacia or SR i 91d &1 JHieRu §

1[Option ID=24009]
2[Option ID=24010]
3[Option ID=24011]
4[Option ID=24012]
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The differential equation of simple harmonic motion given by x = A4 cos (nt + a) is
(1) —+4x=0

2 ZX4a2x=0

(3) i +nfx=0

(4) Tx+m:=0
TS TRE TG T x = A cos (nt + a) BT HTHT- JHID0] &1 G2

(1) F+Ax=ﬂ

a

d=x
dt?
2

d“x
(3) F+n2x:{)

(2) +A42x=0

-

d
(4) dt—2+nx=0

1[Option ID=24013]
2[Option ID=24014]




3[Option ID=24015]
4[Option ID=24016]
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The general solution of a differential equation is that in which the number of arbitrary constants is equal to
(1) the order of the differential equation

(2) the degree of the differential equation

(3) twice the order of the differential equation

(4) twice the degree of the differential equation

g HHIBRUI DT A gl 98 51T oreH W= =R B AT aRIeR 81l -
(1) DT FHIGU & HH &

(2) 3AHT FHIGRU B U1 &

(3) gD YHIBRI S B P 3101 &

(4) HTHA GHIBRUI B °Id & &1 1[0 B

1[Option ID=24017]
2[Option ID=24018]
3[Option ID=24019]
4[Option ID=24020]
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While applying simposn's 1/3rd rule. the given interval must be divided into an
(1) odd number of equal sub - intervals

(2) even number of equal sub - intervals

(3) odd number of unequal sub - intervals

(4) even number of unequal sub - intervals

R & Ue-{de7 99 & SFAER U 78 SdR1a &1 faue fasar S afey -
(1) fouy H&A1 & YA SUiaRa §

(2) HH =1 P U Fuiard §

(3) foun §&d1 & HEE SUiad 4

(4) O B D HHHF IUiard J

1[Option ID=24025]
2[Option ID=24026]
3[Option ID=24027]
4[Option ID=24028]
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The number of sub - intervals in simposn's1/3rd rule for numerical integration is a multiple of
(1)
(2)
(3)
(4)

R & v faeTs oy & it samead & [ Suiawa o @ 69 & a5 87

1)
(2)
(3)
(4)

LV ISR SR ]

[ 35

o

1[Option ID=24029]
2[Option ID=24030]
3[Option ID=24031]
4[Option ID=24032]
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The difference between the position of centre of pressure and the centroid of a plane surface immersed vertically in a fluid 1s:

(where A is the area of plane surface, x is the depth of centroid below the free surface and I is the moment of Inertia about the centroidal
axis.)
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1[Option ID=24033]
2[Option ID=24034]
3[Option ID=24035]
4[Option ID=24036]
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If N is the number of possible hinge positions and X is the degree of static indeterminacy of a portal frame. then number of basic collapse
mechanism are

(1) 2N

2 2N

3) N-X

4) N+X

i N Tya few fRufaal 3t dw gt § SR x FHarfes e 1 Rfde siufdar o1 a1 gl 8. 98 9 o aitis dem &
I

(1) 2N

(2) 2N

3) N-X

4) N+X
1[Option ID=24037]
2[Option ID=24038]

3[Option ID=24039]
4[Option ID=24040]
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which of the following statement(s) are correct
I. Limit state design method is based upon deterministic approach
II. Limit state design method 1s based upon probabilistic approach

III. working stress design method 1s based upon probabilistic approach
(1) Only I

(2) Only II

(3) Only III

(4) BothI and III
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(1) FHIdIl
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(3) Fad I
(9) 13RI

1[Option ID=24041]
2[Option ID=24042]
3[Option ID=24043]
4[Option ID=24044]
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The inter - Storey drift for a multi - Storey building shall not exceed

Where h 15 the storey height
(1) /100

(2) h/150

(3) h/200

(4) h/300
SgHfeTa §ARG & forg siar-Hfvra siarg (fgte) frert st =il &1 Spat &2
T51 h Ao B 5T 5
(1) h/100

(2) h/150

(3) /200

(4) h/300

1[Option ID=24045]
2[Option ID=24046]

3[Option ID=24047]
4[Option ID=24048]
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If fus the ultimate stress of bolt then proof stress for minimum bolt tension is
(1) 0.45 fw
(2) 0.60 fw
(3) 0.70 fw
(4) 0.80 fur

afE £ P& BT oA T UAGA 8. T S BT GATH G & 1078 YHIUE Hidad 1 Iy -
(1) 045 fur
(2) 0.60 fur

(3) 0.70 fur
(4) 0.80 fwe

1[Option ID=24049]
2[Option ID=24050]
3[Option ID=24051]
4[Option ID=24052]
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The purpose of a beam - to column flexible connection in to resist and transfer
(1) Only shear
(2) Only moment

(3) both shear and moment
(4) 50% of shear and moment
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(1) dad AgEYl

(2) Paet ATl

(3) O] R gl SHf &1

(4) 50% SO=TYT SR HATEUf B

1[Option ID=24053]
2[Option ID=24054]
3[Option ID=24055]
4[Option ID=24056]
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If the infiltration capacity of a soil 1s 25 mm/hr, and the intensity of rainfall during a particular storm 1s 20 mm/hr, then the actual rate of
infiltration will be

(1) 5 mm/hr

(2) 20 mm/'hr

(3) 25 mm/'hr

(4) 45 mm/'hr

ofg foreft gar &t aa: o= emar 25 Tt / der 3 ER st f3faa qw & <R anf @t <fiaar 20 iyl / der . 99 arafas o
T X 1 g

) s ger
(2) 20 fird] / ger
(3) 25 il / ger

@) 454/ ge

1[Option ID=24057]
2[Option ID=24058]
3[Option ID=24059]
4[Option ID=24060]
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. g . . . . . .
A catchment with an area of 8 (km)” experienced a rainfall of uniform intensity 20 mm/hr for a duration of 8 hours. If the average
mfiltration capacity during the storm was 7.5 mm/hr then the resulting surface runoff volume was

(1) 1.2 Mm’®

(2) 0.8 Mm®

(3) 0.6 Mm®

(4) 0.4 Mm?

U o J501 forad! 8% 8 (Km)? & 20 [, / 9e1 % 9|M digal &1 a9l s 68 0@ 3FYd Sdl 8 dfe qiH & 98T 3Ed 3
Wie &mar 7.5 TaL / det ot 91 59 TRume W= g da1s el 3{1ad- o 412

(1) 1.2 Mm?

(2) 0.8 Mm®

(3) 0.6 Mm°

(4) 0.4 Mm?

Ln

1[Option ID=24061]
2[Option ID=24062]
3[Option ID=24063]
4[Option ID=24064]
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A flow duration curve of a stream is a plot of discharge against the:

(1) time of measurement
(2) intensity of rainfall

(3) runoff volume
(4) percent of time the flow was equaled or exceeded

UG YR &1 Yaig 3aft aw. fagvid @1 fegd fandia sie- g2

(1) HYT BT THY
(2)




gut @l digdm
(3) diedd HGdq
(4) gHY &I UId ol UdTe SR1ax d1 A9E o

1[Option ID=24069]
2[Option ID=24070]
3[Option ID=24071]
4[Option ID=24072]

Sl. No.96
QBID:979142471

The value of standard deviation to be assumed for the calculation of target mean strength in the design of M25 grade conerete mix is
(1) 2.5 N/mm?

(2) 3.0 N/mm?

(3) 3.5 N/mm?

(4) 4.0 N/mm?

M25 BIct Hdie By & fSosT § aeg 3id vaaal &1 TUFT 8 g6 3 fdgad &1 9F &1 319 62

(1) 2.5 N/mm?

(2) 3.0 N/mm?

(3) 3.5 N/mm?

(4) 4.0 N/mm?

1[Option ID=24073]
2[Option ID=24074]
3[Option ID=24075]
4[Option ID=24076]
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The value of discharge Q, in Muskingum method of flood routing is computed using the equation Q; = Cpl; + C;I; + C;0;. The values
of Cp C; and C satisfy the condition

1) Cp+C;=C,

2 Cp+C;+Cr=0

3) Cp-C;+C,=1

@ CptC;+C,=1

AREHTH oI d1g 1l (HeRv [l T, [d869 Q, & TH &I UHT GHIBRT 0, =€), +C,1,+C,0; I AR &R B Sldl gl C,, C;
AR ¢, FAHE B I FUG F1 gy axd 82

a1 Cp+C; =G,

2 Cp+C;+C,=0

3) Cyp -C;+C=1

@ CoptC;+Cr=1

1[Option ID=24077]

2[Option ID=24078]

3[Option ID=24079]
4[Option ID=24080]
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As per IS 456 : 2000, the concrete of grade M50 is classified as:
(1) Ordinary concrete

(2) Standard concrete
(3) High strength concrete

(4) Very High strength concrete

IS 456 : 2000 P IR, BIC M50 & bebIc &I A bRVl [PH oRE gl 82
() Y SHepic

() HES bbic

(3) I Yderd] deblc

(4) §gd 3= Uaddl Hebic




1[Option ID=24081]
2[Option ID=24082]
3[Option ID=24083]
4[Option ID=24084]
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An industrial wastewater 1s discharged into a municipal wastewater sewer. The characteristics of the two wastes are as follow.

Industrial Municipal
Flow = 3300 m?/d Flow = 63500 m>/d
BOD; = 1000 mg/L BOD; = 500 mgL

The BOD of the mixture is
(1) 240 mg/L
(2) 480 mg/T
(3) 720 mg/L
(4) 960 mg/L

SN Sy od & FRUIftE SOy o Aa-d (diaw) § fauferd oo oar g1 aF1 safk o faxman Fafafad s -

SATETE FRUTET
FUATE = 3500 m°/d TdIE = 6300 m/d
BOD; = 1000 mg/L BOD; = 500 mg/L
U1 BT BOD &I BITII

(1) 240 mg/L
(2) 480 mg/T
(3) 720 mg/L
(4) 960 mg/L
1[Option ID=24085]
2[Option ID=24086]

3[Option ID=24087]
4[Option ID=24088]
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A city must treat about 15000 m>/d of water. A column analysis indicates that an overflow rate of 20 m/d will produce satisfactory
removal of flocculating particles produced by coagulation. The area of each setting tank required if two tanks are to be provided is
(1) 750 m’

(2) 375 m?

(3) 187.5m’

(4) 93.75 m’

TS TER Pl I 15000 m?/d TS BT IUER BT AN | T Fe F=eisor a=ifell 8 a5 20 m/d T SHfdaTe &R Whad gRI 3dd
Hioid Ul B gy FEprE o Ffe 31 S0 Fues [T 71U § 6 uid 1918 <o B Sawgs A% o1 8R

(1) 750 m?

(2) 375 m?

(3) 187.5m’

(4) 93.75 m’

1[Option ID=24089]
2[Option ID=24090]
3[Option ID=24091]
4[Option ID=24092]




